REFETEE
BEMMILDS R ETESE

1-1 REf#h - RFAMBRDIEE [EFH]

KEE, BEIZLM

(=44 0 1~ 3]

f=ifiva ‘(] [ &Ram]
K 67.90 -
SEE (FOREEL) 171.72 -
] 52.83 -
= 33.03 -
51d 52.83 -
7 33.03 -
HNEE (FOEEE L) 146.49 -
] 37.81 -
= 29.94 -
=4 49.26 -
7 29.48 - B R
FAOS(E+ F7) 25.23 - A4 | No. == B | &iglm] | Bism] m&[ni]
= 21.99 - 1 |z 1F 1.65 1.30] 215
] 15.02 - 2 |LD 1F 1.65 1.80| 2.97
= 3.09 - 3 |LD 1F 1.65 1.30] 215
il
=4 2.22 - 4 (B= 2F 1.65 1.10] 1.82
7 1.67 - 5 |Fft=1L | 2F 1.65 1.80| 2.97 B
(N 3.24 - 6 |FHt=E2 |2F 1.65 1.80| 2.97| 15.02
51d 1.35 - 7 |LD 1F 1.65 1.30| 2.15
7 1.89 - B | 8 |&AF 1F 1.20 0.50| 0.60 5
R 62.11 - 9 |Fft=2 | 2F 0.69 0.50 0.35| 3.09
TRK (XB. AE) 5.80 - 10 |kaAL 1F 0.69 0.50| 0.35
HpgeE (XB. mE) & 4.78 - 11 |%mEem 1F 0.69 0.50| 0.35
A 7 1.27 - | 12 |x—n 1F 0.69 0.50| 0.35
Bl 1.11 - 13 |2FF— | 2F 1.20 0.70| 0.84 5
R 2.39 - 14 |2F AL |2F 0.69 0.50| 0.35| 2.22
HitE R Pt - 6.825 15 A% 1F 0.69 0.50| 0.35 B
(XB8. AE) KT - 6.825 . 16 |BE 2F 1.20 1.10| 1.32| 167
AREEE KBFoaFD) 312.30
TENARSY : IBFEEDEE 307.53
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REFETEE
BEMMILDS R ETESE

1-2 REfgh - RFHBDIES [REt]

KEE, BEIZLM

CREEH# @ 4 ~ 7 #his]

f=ifiva ‘(] [ &Ram]
K 67.90 -
AE EOREET) 171.72 -
] 52.83 -
= 33.03 -
51d 52.83 -
7 33.03 -
HNEE (FOEEE L) 139.51 -
] 33.14 -
= 29.25 -
=4 48.06 - W R
i 29.07 - A1z | No. = B | Biglm] | ®&lm] [ EEIM]
FROSE+ R7) 32.20 - 1 |z 1F 2.55 1.80| 4.59
= 28.69 - 2 |LD 1F 1.65 2.10| 3.47
] 19.69 - 3 |LD 1F 1.65 2.10| 3.47
G2l
= 3.79 - 4 |EBE 2F 1.65 1.05| 1.73
=4 3.15 - 5 |FHt=E1 | 2F 1.65 1.95| 3.22 5
7 2.07 - 6 |Fft=2 | 2F 1.65 1.95| 3.22| 19.69
(N 3.51 - 7 |LD 1F 1.65 1.30] 2.15
51d 1.62 - = | 8 |&FF 1F 1.40 0.70| 0.98 B
7 1.89 - 9 |Ft=E2 |2F 0.60 1.10| 0.66| 3.79
R 62.11 - 10 |kaAL 1F 0.60 0.90| 0.54
TRK (XB. AE) 5.80 - 11 |sm@rr 1F 0.60 0.90| 0.54
Emger (X, B=x) & 4,78 - | 12 [k—n 1F 0.60 0.90| 0.54
A 7 1.27 - 13 |2FF— | 2F 0.90 1.10] 0.99 5
51d 1.11 - 14 [2F b AL | 2F 0.60 0.90| 0.54| 3.15
R 2.39 - 15 A% 1F 0.60 0.90| 0.54
HitE R Pt - 6.825 | 16 [EE 2F 0.90 1.10| 0.99|3
(XE. A=) PRI - 6.825 17 |/n-¥' b | 2F 0.6 0.90| 0.54| 2.07
AEEEET KEFoEEh 312.30
TENARY : IBFEEDIEE 307.53
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RNEFETHEE
BEAL DS K EEE

2-1 EREHRE - XAMBOBE (RG]
XIFEE LR

[T @ 1~ 3 #hig]

BBAL miEn] | & [m]
R 67.90 -
HEE (FAOEEET) 175.62 -
&l 53.98 -
= 33.83 -
i 53.98 —
i 33.83 -
HEE (FAOEZ&E40) 150.39 -
] 38.96 -
= 30.74 -
i 50.41 -
7 30.28 - W R
FOE(R+ K 7) 25.23 - A1 | No. = B | Riglm] | ®R&lm] | EEIM]
= 21.99 - 1 |f= 1F 1.65 1.30| 2.15
] 15.02 - 2 LD 1F 1.65 1.80| 2.97
= 3.09 - 3 LD 1F 1.65 1.30| 2.15
i 2.22 - K 4 |B=E 2F 1.65 1.10| 1.82
7 1.67 - 5 |Ft=E1 | 2F 1.65 1.80| 2.97
k7 3.24 - 6 |FHt=E2 | 2F 1.65 1.80| 2.97| 15.
i 1.35 - 7 |LD 1F 1.65 1.30| 2.15
i 1.89 - B | 8 |&AT 1F 1.20 0.50| 0.60
+RIK (IF2mEmLR) 67.90 - 9 |FMt=2 |[2F 0.69 0.50| 0.35| 3.09
EREEE iE 12.42 - 10 [FAL 1F 0.69 0.50| 0.35
FAStt] & 3.66 - 11 |%E@EFr 1F 0.69 0.50| 0.35
= 2.55 - | 12 |Fx—n 1F 0.69 0.50| 0.35
i 3.66 13 |2Fk—IL | 2F 1.20 0.70| 0.84
7 2.55 - 14 |2FhA L | 2F 0.69 0.50| 0.35| 2.22
HERER EAS SRl - 35.490 15 A% 1F 0.69 0.50| 0.35
NAEEEET (KREFOEE) 323.85 . 16 |B= 2F 1.20 1.10] 1.32| 1.67
TRENERY : IBEEDZE 311.43
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RNEFETHEE
BEAL DS K EEE

2-2 EutErsh - XHEBROBE [RiEM)

X1IF2mEH
[(=aHe 0 1~ 3]
BBAL miEn] | & [m]
R 67.90 -
HEE (FAOEEET) 175.62 -
&l 53.98 -
= 33.83 -
i 53.98 —
i 33.83 -
HEE (FAOEZ&E40) 143.42 -
] 34.29 -
= 30.05 -
i 49.21 - B R
i 29.87 - A1z | No. = B | Big&lm] | ®&[m] | EEI]
FOE(R+ F7) 32.20 - 1 |z 1F 2.55 1.80| 4.59
= 28.69 - 2 |LD 1F 1.65 2.10| 3.47
] 19.69 - 3 LD 1F 1.65 2.10 3.47
= 3.79 - K 4 |B=E 2F 1.65 1.05| 1.73
i 3.15 - 5 |Ft=E1 | 2F 1.65 1.95| 3.22 B
7 2.07 - 6 |FH=E2 | 2F 1.65 1.95| 3.22| 19.69
k7 3.51 - 7 |LD 1F 1.65 1.30| 2.15
i 1.62 - B | 8 |&AT 1F 1.40 0.70| 0.98 B
i 1.89 - 9 |FH=2 | 2F 0.60 1.10| 0.66| 3.79
+RIK (IF2mEmLR) 67.90 - 10 |[kAL 1F 0.60 0.90| 0.54
EREEE iE 12.42 - 11 |ZEm@rr 1F 0.60 0.90| 0.54
FAStt] &l 3.66 - | 12 |Fx—n 1F 0.60 0.90| 0.54
ES 2.55 - 13 |2FFK— | 2F 0.90 1.10| 0.99 B
i 3.66 14 |2FhA L | 2F 0.60 0.90| 0.54| 3.15
7 2.55 - 15 A% 1F 0.60 0.90| 0.54
HEpRAR EASSRL] - 35.490 | 16 [E= 2F 0.90 1.10| 0.99|F
NAEEEET (KREFOEE) 323.85 17 |-t vk | 2F 0.60 0.90| 0.54| 2.07
TRENERY : IBEEDZE 311.43
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REFETEE
BENI DA TS

3-1 GRiizh - ERETFOSS [Rinit)

KEE, BEIZLM

[E=AH 0 1~ 3 i)

B XHE & BIREO RO EEE DS EmEFH

BRAL miE(nd] | &&[m] BBAL 1z EE[n]
ER 73.88 - 2QFNEBDEEE = 3.35
BiR (2p%) 4.5 57.21 [ig 3.35
EBR (de@ITE) 3.5+ 13.16 FEIKEY D TEDEEE 3} 0.58
EBiR (METE) 3.5+ 351 [ig 0.58
AEE (FEOREET) 183.92 - MEDOTEDEEE =] 0.14
] 55.84 - bld 0.14
= 38.88 - 2F/NEHT & KA D /NBE ] 2.87
5d 51.49 - bld 2.87
i 37.72 - = 1.64
HNEE (FOEEE L) 158.69 - 7 1.64
] 40.82 - AEIKE Y O T EBOH & KAR/INEE it 1.02
S 35.79 - = 0.27
Bl 47.92 - 7 0.27
7 34.16 - AIk@ Y FEEAEB D /N bld -5.37
FROSE+ F7) 25.23 - METERED/NEE g -1.16
= 21.99 -
] 15.02 - B R
S 3.09 - A1z | No. = B | Biglm] | ®R&lm] | EEIM]
I 2.22 - 1 |z 1F 1.65 1.30| 2.145
7 1.67 - 2 |LD 1F 1.65 1.80| 2.97
K7 3.24 - 3 |LD 1F 1.65 1.30| 2.145
3]
5d 1.35 - 4 |BE 2F 1.65 1.10| 1.815
7 1.89 - 5 |FH=EL | 2F 1.65 1.80| 2.97 5
PR 62.11 - 6 |FHt=E2 | 2F 1.65 1.80| 2.97| 15.02
TR (X BAE) 5.80 - 7 |LD 1F 1.65 1.30| 2.145
HEpger (XA, Bx) & 4,78 - H | 8 |&F 1F 1.20 0.50 0.6 H
FaSt 7 1.27 - 9 |FHt=E2 | 2F 0.69 0.50| 0.345| 3.09
51d 1.11 - 10 AL 1F 0.69 0.50| 0.345
PR T8 2.39 - 11 |%mEmr 1F 0.69 0.50| 0.345
HBAR FaSt - 6.825 | 12 |Fx—n 1F 0.69 0.50| 0.345
(XE. A%E) PR - 6.825 13 [2FFk— | 2F 1.20 0.70| 0.84 H
AREEATT (KRBEFOAED) 330.48 14 |2F b4 L | 2F 0.69 0.50| 0.345| 2.22
TRNARASMY : IBFEZEOHE| 32571 15 A% 1F 0.69 0.50| 0.345 5
i XRAESY 2 IBSHEE L LEBEE. TE, 8 16 |B= 2F 1.20 1.10| 1.32| 167




REFETEE
BENI DA TS

3-2 Rz - ERETFOSE [RiEit)

KEE, BEIZLM

CEREH : 4 ~ 7 H#i5])

B XHE & BIREO RO EEE DS EmEFH

BRAL miE(nd] | &&[m] BBAL 1z mE[n]
ER 73.88 - 2QFNEBDEEE = 3.35
BiR (2p%) 4.5 57.21 [ig 3.35
EBR (de@ITE) 3.5+ 13.16 FEIKEY D TEDEEE 3} 0.58
EBiR (METE) 3.5+ 351 [ig 0.58
AEE (FEOREET) 183.92 - MEDOTEDEEE =] 0.14
] 55.84 - bld 0.14
S 38.88 - 2F/NEHT & KA D /NBE ] 2.87
It 51.49 - bld 2.87
i 37.72 - = 1.64
HNEE (FOEEE L) 151.72 - 7 1.64
=] 36.15 - AEIKE Y O T EBOH & KAR/INEE it 1.02
S 35.09 - = 0.27
Bl 46.72 - 7 0.27
i 33.76 - AIk@ Y FEEAEB D /N bld -5.37
FROSE+ F7) 32.20 - METERED/NEE g -1.16
= 28.69 -
=] 19.69 - B R
S 3.79 - A1z | No. = B | Biglm] | ®&lm] | EEIM]
I 3.15 - 1 |z 1F 2.55 1.80| 4.59
i 2.07 - 2 |LD 1F 1.65 2.10| 3.47
K7 3.51 - 3 |LD 1F 1.65 2.10| 3.47
3]
5d 1.62 - 4 |BE 2F 1.65 1.05| 1.73
i 1.89 - 5 |FH=EL | 2F 1.65 1.95| 3.22 5
R 62.11 - 6 |FHt=E2 | 2F 1.65 1.95| 3.22| 19.69
TR (X BAE) 5.80 - 7 |LD 1F 1.65 1.30] 2.15
HEpger (XA, Bx) & 4,78 - H | 8 |&F 1F 1.40 0.70| 0.98 H
FaSt 7 1.27 - 9 |FHt=E2 | 2F 0.60 1.10| 0.66| 3.79
51d 1.11 - 10 AL 1F 0.60 0.90| 0.54
PR T8 2.39 - 11 |%mEmr 1F 0.60 0.90| 0.54
ERAR EASR il - 6.825 i | 12 [Hm—n 1F 0.60 0.90[ 0.54
(XE. A%E) PR - 6.825 13 [2FFk— | 2F 0.90 1.10] 0.99 H
AREEATT (KRBEFOAED) 330.48 14 |2F b4 L | 2F 0.60 0.90| 0.54| 3.15
TRNARASMY : IBFEZEOHE| 32571 15 A% 1F 0.60 0.90| 0.54
i XANAER Y ZIBEEXEE LG, T, A | 16 |[BE 2F 0.90 1.10[ 0.99|%
17 |9t vk | 2F 0.60 0.90| o0.54| 2.07




REFETEE
BENI DA TS

4-1 ErEERE - BIRETIBOSBE [(Risit]

XIFRELHE

[E=AH 0 1~ 3 i)

B XHE & BIREO RO EEE DS EmEFH

BRAL miE(nd] | &&[m] BBAL 1z mE[n]
ER 73.88 - 2QFNEBDEEE = 3.35
BiR (2p%) 4.5 57.21 [ig 3.35
EBR (de@ITE) 3.5+ 13.16 FEIKEY D TEDEEE 3} 0.58
EBiR (METE) 3.5+ 351 [ig 0.58
AEE (FEOREET) 187.83 - MEDOTEDEEE =] 0.14
] 56.99 - bld 0.14
= 39.68 - 2F/NEHT & KA D /NBE ] 2.87
5d 52.64 - bld 2.87
7 38.52 - = 1.64
HNEE (FOEEE L) 162.60 - 7 1.64
] 41.97 - AEIKE Y O T EBOH & KAR/INEE it 1.02
S 36.59 - = 0.27
Bl 49.07 - 7 0.27
7 34.96 - AIk@ Y FEEAEB D /N bld -5.37
FROSE+ F7) 25.23 - METERED/NEE g -1.16
= 21.99 -
] 15.02 - B R
S 3.09 - A1z | No. = B | Biglm] | ®R&lm] | EEIM]
I 2.22 - 1 |z 1F 1.65 1.30] 2.15
7 1.67 - 2 |LD 1F 1.65 1.80| 2.97
K7 3.24 - 3 |LD 1F 1.65 1.30] 215
3]
5d 1.35 - 4 |BE 2F 1.65 1.10] 1.82
7 1.89 - 5 |FH=EL | 2F 1.65 1.80| 2.97 5
+RIK (IF&EEM) 67.90 - 6 [FH=2 |2F 1.65 1.80| 2.97| 15.02
EBEE X 12.42 - 7 |LD 1F 1.65 1.30] 215
Pt E] 3.66 - = | 8 |&FF 1F 1.20 0.50| 0.60 5
= 2.55 - 9 |FHt=E2 | 2F 0.69 0.50 0.35| 3.09
51d 3.66 10 AL 1F 0.69 0.50| 0.35
7 2.55 - 11 |%mEmr 1F 0.69 0.50| 0.35
HBAR FaSt - 35.490 & | 12 |Fx—n 1F 0.69 0.50| 0.35
AREEATT (KRBEFOAED) 342.03 13 [2F&—J | 2F 1.20 0.70| 0.84 H
TRNAREASMY : IHFEZEOHE|  329.61 14 [2FbAL | 2F 0.69 0.50 0.35| 2.22
E 0 XEARRY 2B EE L LEEEE. TF, 15 [B=E 1F 0.69 0.50[ 0.35 B
" 16 |B= 2F 1.20 1.10| 1.32| 167




REFETEE
BENI DA TS

4-2 BN - BIREZOESE [(REEH]

XIFRELHE

CEREH : 4 ~ 7 H#i5])

B XHE & BIREO RO EEE DS EmEFH

BRAL miE(nd] | &&[m] BBAL 1z mE[n]
ER 73.88 - 2QFNEBDEEE = 3.35
BiR (2p%) 4.5 57.21 [ig 3.35
EBR (de@ITE) 3.5+ 13.16 FEIKEY D TEDEEE 3} 0.58
EBiR (METE) 3.5+ 351 [ig 0.58
AEE (FEOREET) 187.83 - MEDOTEDEEE =] 0.14
] 56.99 - bld 0.14
= 39.68 - 2F/NEHT & KA D /NBE ] 2.87
5d 52.64 - bld 2.87
7 38.52 - = 1.64
HNEE (FOEEE L) 155.62 - 7 1.64
] 37.30 - AEIKE Y O T EBOH & KAR/INEE it 1.02
S 35.89 - = 0.27
Bl 47.87 - 7 0.27
7 34.56 - AIk@ Y FEEAEB D /N bld -5.37
FROSE+ F7) 32.20 - METERED/NEE g -1.16
= 28.69 -
] 19.69 - B R
S 3.79 - A1z | No. = B | Biglm] | ®R&lm] | EEIM]
I 3.15 - 1 |z 1F 2.55 1.80| 4.59
7 2.07 - 2 |LD 1F 1.65 2.10| 3.47
K7 3.51 - 3 |LD 1F 1.65 2.10| 3.47
3]
5d 1.62 - 4 |BE 2F 1.65 1.05| 1.73
7 1.89 - 5 |FH=EL | 2F 1.65 1.95| 3.22 5
+RIK (IF&EEM) 67.90 - 6 [FH=2 |2F 1.65 1.95| 3.22| 19.69
EBEE X 12.42 - 7 |LD 1F 1.65 1.30] 215
Pt E] 3.66 - = | 8 |[&FF 1F 1.40 0.70| 0.98 5
= 2.55 - 9 |FHt=E2 | 2F 0.60 1.10| 0.66| 3.79
51d 3.66 10 AL 1F 0.60 0.90| 0.54
7 2.55 - 11 |%mEmr 1F 0.60 0.90| 0.54
HBAR FaSt - 35.490 | 12 |Fx—n 1F 0.60 0.90| 0.54
AREEATT (KRBEFOAED) 342.03 13 [2F&—J | 2F 0.90 1.10| 0.99 H
TRNAREASMY : IHFEZEOHE|  329.61 14 [2FbAL | 2F 0.60 0.90| 0.54| 3.5
E 0 XEARRY 2B EE L LEEEE. TF, 15 [B=E 1F 0.60 0.90| 0.54
w16 |EE 2F 0.90 1.10] 0.99|3
17 |9t vk | 2F 0.60 0.90| 054 2.07




